

RICCI SOLITONS IN KENMOTSU MANIFOLDS

H.G.NAGARAJA, C.R.PREMALATHA

ABSTRACT. In this paper we study Ricci solitons in Kenmotsu manifolds. We consider quasi conformal, conharmonic and projective curvature tensors in a Kenmotsu manifold admitting Ricci solitons and prove the conditions for the Ricci solitons to be shrinking, steady and expanding.

1. INTRODUCTION

In [5], Ramesh Sharma started the study of the Ricci solitons in contact geometry. Later Mukut Mani Tripathi [6], Cornelia Livia Bejan and Mircea Crasmareanu [2] and others extensively studied Ricci solitons in contact metric manifolds. A Ricci soliton is a triple (g, V, λ) with g a Riemannian metric, V a vector field and λ a real scalar such that

$$L_V g + 2S + 2\lambda g = 0, \quad (1.1)$$

where S is a Ricci tensor of M . The Ricci soliton is said to be shrinking, steady and expanding according as λ is negative, zero and positive respectively. In this paper, we prove conditions for Ricci solitons in Kenmotsu manifolds to be shrinking, steady and expanding. Section 2 is a very brief review of Kenmotsu manifolds and Ricci solitons. In section 3, we prove the conditions for Ricci solitons in a Kenmotsu manifold to be shrinking or expanding. The last section is devoted to the study of steady Ricci solitons in a Kenmotsu manifold.

2. PRELIMINARIES

An n dimensional smooth manifold M is said to be an almost contact metric manifold if it admits an almost contact metric structure (ϕ, ξ, η, g) consisting of a tensor field ϕ of type $(1,1)$, a vector field ξ , a 1-form η and a Riemannian metric g compatible with (ϕ, ξ, η) satisfying

$$\phi^2 = -I + \eta \otimes \xi, \quad \eta(\xi) = 1, \quad \phi\xi = 0, \quad \eta \circ \phi = 0, \quad (2.1)$$

and

$$g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y). \quad (2.2)$$

2000 *Mathematics Subject Classification.* 53C40, 53C15.

Key words and phrases. Ricci solitons, Kenmotsu, conharmonic, projective and quasi conformally curvature tensor, shrinking, steady, expanding.

©2012 Ilirias Publications, Prishtinë, Kosovë.

Submitted January 9, 2012. Published June 22, 2012.

An almost contact metric manifold is said to be a Kenmotsu manifold [4] if

$$(\nabla_X \phi)Y = g(\phi X, Y)\xi - \eta(Y)\phi(X), \quad (2.3)$$

$$\nabla_X \xi = X - \eta(X)\xi, \quad (2.4)$$

where ∇ denotes the Riemannian connection of g .

In a Kenmotsu manifold the following relations hold [4].

$$R(X, Y)Z = g(X, Z)Y - g(Y, Z)X, \quad (2.5)$$

$$(\nabla_X \eta)Y = g(\phi X, \phi Y), \quad (2.6)$$

$$\eta(R(X, Y)Z) = \eta(Y)g(X, Z) - \eta(X)g(Y, Z), \quad (2.7)$$

$$R(X, Y)\xi = \eta(X)Y - \eta(Y)X, \quad (2.8)$$

$$R(\xi, X)Y = \eta(Y)X - g(X, Y)\xi, \quad (2.9)$$

$$R(\xi, X)\xi = X - \eta(X)\xi. \quad (2.10)$$

Let (g, V, λ) be a Ricci soliton in an n dimensional Kenmotsu manifold M .

From (2.4) we have

$$(L_\xi g)(X, Y) = g(X, Y) - \eta(X)\eta(Y). \quad (2.11)$$

From (1.1) and (2.11) we see that

$$S(X, Y) = \eta(X)\eta(Y) - (\lambda + 1)g(X, Y). \quad (2.12)$$

The above equation yields

$$QX = \eta(X)\xi - (\lambda + 1)X, \quad (2.13)$$

$$S(X, \xi) = -\lambda\eta(X), \quad (2.14)$$

$$r = -\lambda n - (n - 1) \quad (2.15)$$

where Q and r are respectively the Ricci operator and scalar curvature on M .

3. SHRINKING AND EXPANDING RICCI SOLITONS IN A KENMOTSU MANIFOLD

Let M be an n dimensional Kenmotsu manifold admitting a Ricci soliton (g, V, λ) .

3.1. Shrinking Ricci solitons. The quasi-conformal curvature tensor \tilde{C} in M is defined by [1]

$$\begin{aligned} \tilde{C}(X, Y)Z = & aR(X, Y)Z + b(S(Y, Z)X - S(X, Z)Y + g(Y, Z)QX - g(X, Z)QY) \\ & - \frac{r}{n} \left(\frac{a}{n-1} + 2b \right) [g(Y, Z)X - g(X, Z)Y], \end{aligned} \quad (3.1)$$

where a, b are constants.

Taking $Z = \xi$ in (3.1) and using (2.8), (2.13), (2.14), we obtain

$$\tilde{C}(X, Y)\xi = [a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)](\eta(X)Y - \eta(Y)X). \quad (3.2)$$

Similarly using (2.7), (2.12), (2.13), in (3.1), we get

$$\begin{aligned} \eta(\tilde{C}(X, Y)Z) = & - [a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)] [g(Y, Z)\eta(X) \\ & - g(X, Z)\eta(Y)]. \end{aligned} \quad (3.3)$$

We assume that the condition

$$R(\xi, X).\tilde{C} = 0 \quad (3.4)$$

holds in M .

We can write (3.4) as

$$0 = R(\xi, X)(\tilde{C}(Y, Z)W) - \tilde{C}(R(\xi, X)Y, Z)W - \tilde{C}(Y, R(\xi, X)Z)W - \tilde{C}(Y, Z)R(\xi, X)W, \quad (3.5)$$

for all vector fields X, Y, Z, W on M .

Using (2.9) in (3.5), we find

$$\begin{aligned} 0 = & \eta(\tilde{C}(Y, Z)W)X - {}'\tilde{C}(Y, Z, W, X)\xi \\ & - \eta(Y)\tilde{C}(X, Z)W + g(Y, X)\tilde{C}(\xi, Z)W \\ & - \eta(Z)\tilde{C}(Y, X)W + g(X, Z)\tilde{C}(Y, \xi)W \\ & - \eta(W)\tilde{C}(Y, Z)X + g(W, X)\tilde{C}(Y, Z)\xi, \end{aligned} \quad (3.6)$$

where

$${}'\tilde{C}(Y, Z, W, X) = g(\tilde{C}(Y, Z)W, X).$$

(3.6) may be rewritten as

$$\begin{aligned} 0 = & \eta(\tilde{C}(Y, Z)W)\eta(X) - {}'\tilde{C}(Y, Z, W, X) - \eta(Y)\eta(\tilde{C}(X, Z)W) \\ & + g(Y, X)\eta(\tilde{C}(\xi, Z)W) - \eta(Z)\eta(\tilde{C}(Y, X)W) + g(X, Z)\eta(\tilde{C}(Y, \xi)W) \\ & - \eta(W)\eta(\tilde{C}(Y, Z)X) + g(W, X)\eta(\tilde{C}(Y, Z)\xi). \end{aligned} \quad (3.7)$$

In view of (3.1) - (3.3), the equation (3.7) reduces to

$$0 = g(\tilde{C}(Y, Z)W, X) + [a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)] [g(X, Y)g(W, Z) - g(X, Z)g(Y, W)]. \quad (3.8)$$

Using (3.1) in (3.8), we obtain

$$\begin{aligned} 0 = & a{}'R(Y, Z, W, X) + b[S(Z, W)g(Y, X) - S(Y, W)g(Z, X) + g(Z, W)g(QY, X) \\ & - g(Y, W)g(QZ, X)] - \frac{r}{n} \left(\frac{a}{n-1} + 2b \right) [g(Z, W)g(Y, X) - g(Y, W)g(Z, X)] \\ & + [a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)] [g(X, Y)g(W, Z) - g(X, Z)g(Y, W)]. \end{aligned} \quad (3.9)$$

Taking $X = Y = e_i$ in (3.9) and summing over $i = 1, 2, \dots, n$, we get

$$[a + (n-2)b]S(Z, W) = -[a + (2\lambda + 1)b](n-1)g(Z, W). \quad (3.10)$$

Taking $Z = W = e_i$ in (3.10) and summing over $i = 1, 2, \dots, n$, we obtain from (2.15),

$$\lambda(2bn(n-1) + n[a + b(n-2)]) = (a+b)n(n-1) - [a + b(n-2)](n-1).$$

If $a + (n-2)b = 0$ then $\lambda = -\frac{(n-1)}{2}$.

i.e. λ is negative for $n \geq 2$ or Ricci soliton is shrinking for $n \geq 2$.

Hence we can state that

Theorem 3.1. *A Ricci soliton in a quasi conformally semi symmetric Kenmotsu manifold is shrinking for $n \geq 2$, provided $a + (n-2)b = 0$.*

3.2. Expanding Ricci solitons. We consider the projective curvature tensor[7] which is defined by

$$P(X, Y)Z = R(X, Y)Z - \frac{1}{n-1}[S(Y, Z)X - S(X, Z)Y]. \quad (3.11)$$

From (3.1), (2.7), (2.13) and (2.14) and (3.15), we find

$$\begin{aligned} \eta(\tilde{C}(X, Y)Z) &= [a + b\lambda + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)] [g(X, Z)\eta(Y) - g(Y, Z)\eta(X)] \\ &\quad + b[S(Y, Z)\eta(X) - S(X, Z)\eta(Y)], \end{aligned} \quad (3.12)$$

$$\begin{aligned} \eta(\tilde{C}(\xi, X)Y) &= [a + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right)] [\eta(Y)\eta(X) - g(X, Y)] \\ &\quad + b[S(X, Y) + 2\lambda\eta(Y)\eta(X)], \end{aligned} \quad (3.13)$$

$$\eta(\tilde{C}(X, Y)\xi) = 0, \quad (3.14)$$

and

$$\begin{aligned} P(\xi, X)Y &= \frac{1}{n-1} [(\lambda + 2 - n)g(X, Y) - \eta(X)\eta(Y)]\xi \\ &\quad - (\lambda - n + 1)\eta(Y)X. \end{aligned} \quad (3.15)$$

Assume that in M

$P(\xi, X).\tilde{C} = 0$ holds.

We can write

$$0 = P(\xi, X)\tilde{C}(Y, Z)W - \tilde{C}(P(\xi, X)Y, Z)W - \tilde{C}(Y, P(\xi, X)Z)W - \tilde{C}(Y, Z(P(\xi, X)W)), \quad (3.16)$$

for all vector fields X, Y, Z, W on M .

Using (3.15) in (3.16) we obtain

$$\begin{aligned} 0 &= [(\lambda + 2 - n)'\tilde{C}(Y, Z, W, X) - \eta(X)\eta(\tilde{C}(Y, Z)W)]\xi - (\lambda - n + 1)\eta(\tilde{C}(Y, Z)W)X \\ &\quad - [(\lambda + 2 - n)g(X, Y) - \eta(X)\eta(Y)]\tilde{C}(\xi, Z)W + (\lambda - n + 1)\eta(Y)\tilde{C}(X, Z)W \\ &\quad - [(\lambda + 2 - n)g(X, Z) - \eta(X)\eta(Z)]\tilde{C}(Y, \xi)W + (\lambda - n + 1)\eta(Z)\tilde{C}(Y, X)W \\ &\quad - [(\lambda + 2 - n)g(X, W) - \eta(X)\eta(W)]\tilde{C}(Y, Z)\xi + (\lambda - n + 1)\eta(W)\tilde{C}(Y, Z)X. \end{aligned}$$

Contracting the above equation with ξ , we obtain

$$\begin{aligned} &[(\lambda + 2 - n)'\tilde{C}(Y, Z, W, X) - \eta(X)\eta(\tilde{C}(Y, Z)W)] \\ &\quad - (\lambda - n + 1)\eta(\tilde{C}(Y, Z)W)\eta(X) \\ &\quad - [(\lambda + 2 - n)g(X, Y) - \eta(X)\eta(Y)]\eta(\tilde{C}(\xi, Z)W) \\ &\quad + (\lambda - n + 1)\eta(Y)\eta(\tilde{C}(X, Z)W) \\ &\quad - [(\lambda + 2 - n)g(X, Z) - \eta(X)\eta(Z)]\eta(\tilde{C}(Y, \xi)W) \\ &\quad + (\lambda - n + 1)\eta(Z)\eta(\tilde{C}(Y, X)W) \\ &\quad - [(\lambda + 2 - n)g(X, W) - \eta(X)\eta(W)]\eta(\tilde{C}(Y, Z)\xi) \\ &\quad + (\lambda - n + 1)\eta(W)\eta(\tilde{C}(Y, Z)X) = 0. \end{aligned} \quad (3.17)$$

From (3.12)-(3.14), the equation (3.17) is written as

$$\begin{aligned}
& (\lambda + 2 - n)' \tilde{C}(Y, Z, W, X) + b\lambda[g(Z, W)\eta(Y)\eta(X) - g(Y, W)\eta(X)\eta(Z)] \\
& + [(\lambda - n + 2)(l + 2b\lambda) - (\lambda - n + 1)k][g(Z, X)\eta(Y)\eta(W) - g(X, Y)\eta(Z)\eta(W)] \\
& + (\lambda - n + 2)l[g(X, Y)g(Z, W) - g(X, Z)g(Y, W)] \\
& + (\lambda - n + 2)b[g(X, Z)S(Y, W) - g(X, Y)S(Z, W)] \\
& + (\lambda - n + 1)b[S(Z, X)\eta(Y)\eta(W) - S(X, Y)\eta(Z)\eta(W)] = 0,
\end{aligned} \tag{3.18}$$

$$\begin{aligned}
\text{where } \quad k &= a + b\lambda + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right), \\
l &= a + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right).
\end{aligned}$$

In view of (3.1) and (3.18), we have

$$\begin{aligned}
& (\lambda + 2 - n)a'R(Y, Z, W, X) + (\lambda + 2 - n)b[g(Z, W)S(Y, X) - g(Y, W)S(Z, X)] \\
& + b\lambda[g(Z, W)\eta(Y)\eta(X) - g(Y, W)\eta(X)\eta(Z)] \\
& + [(\lambda - n + 2)(l + 2b\lambda) - (\lambda - n + 1)k][g(Z, X)\eta(Y)\eta(W) - g(X, Y)\eta(Z)\eta(W)] \\
& + (\lambda - n + 2)a[g(X, Y)g(Z, W) - g(X, Z)g(Y, W)] \\
& + (\lambda - n + 1)b[S(Z, X)\eta(Y)\eta(W) - S(X, Y)\eta(Z)\eta(W)] = 0.
\end{aligned} \tag{3.19}$$

Taking $X = Y = e_i$ and summing over $i = 1, \dots, n$, we obtain

$$\begin{aligned}
& (\lambda + 2 - n)(a - b)S(Z, W) + [(\lambda + 2 - n)br + b\lambda + (\lambda + 2 - n)a(n - 1)]g(Z, W) \\
& - [b\lambda + (n - 1)[(\lambda - n + 2)(l + 2b\lambda) - (\lambda - n + 1)k] + (\lambda - n + 1)br \\
& + \lambda(\lambda - n + 1)b]\eta(Z)\eta(W) = 0.
\end{aligned} \tag{3.20}$$

Taking $Z = W = e_i$ and summing over $i = 1, \dots, n$, we obtain

$$\begin{aligned}
& (\lambda + 2 - n)(a - b)r + [(\lambda + 2 - n)br + b\lambda + (\lambda + 2 - n)a(n - 1)]n \\
& - [b\lambda + (n - 1)[(\lambda - n + 2)(l + 2b\lambda) - (\lambda - n + 1)k] + (\lambda - n + 1)br \\
& + \lambda(\lambda - n + 1)b] = 0.
\end{aligned}$$

If $a + (n - 1)b = 0$ then we have

$$\lambda = \frac{n^4 - 3n^3 + 2n^2 - 1}{n^3 - n^2 - n}.$$

Therefore λ is positive for all $n \geq 3$. i.e. the Ricci soliton is expanding.

Thus we can state that

Theorem 3.2. *A Ricci soliton in an n -dimensional Kenmotsu manifold satisfying $P(\xi, X).C = 0$ is expanding for all $n \geq 3$ provided $a + (n - 1)b = 0$.*

4. STEADY RICCI SOLITONS IN A KENMOTSU MANIFOLD

Let M be an n dimensional Kenmotsu manifold admitting a Ricci soliton (g, V, λ) . The conharmonic curvature tensor [3] on M is defined by

$$H(X, Y)Z = R(X, Y)Z - \frac{1}{n-2}[S(Y, Z)X - S(X, Z)Y + g(Y, Z)QX - g(X, Z)QY]. \quad (4.1)$$

From (2.9), (2.12), (2.13), (2.14) and (4.1), we obtain

$$H(\xi, X)Y = \eta(Y)X - g(X, Y)\xi - \frac{1}{n-2}([\eta(X)\eta(Y) - (\lambda+1)g(X, Y)]\xi + \lambda\eta(Y)X - \eta(Y)QX), \quad (4.2)$$

and

$$\eta(H(\xi, X)Z) = \eta(Z)\eta(X) - g(X, Z) - \frac{1}{n-2}((2\lambda+1)\eta(X)\eta(Z) - (\lambda+1)g(X, Z)). \quad (4.3)$$

We assume that $H(\xi, X).S = 0$, holds. Then we have

$$S(H(\xi, X)Y, Z) + S(Y, H(\xi, X)Z) = 0. \quad (4.4)$$

In view of (2.12), (4.4) becomes

$$\eta(H(\xi, X)Y)\eta(Z) - (\lambda+1)g(H(\xi, X)Y, Z) + \eta(Y)\eta(H(\xi, X)Z) - (\lambda+1)g(Y, H(\xi, X)Z) = 0, \quad (4.5)$$

$$i.e. \eta(H(\xi, X)Y)\eta(Z) + \eta(Y)\eta(H(\xi, X)Z) = (\lambda+1)[g(H(\xi, X)Y, Z) + g(Y, H(\xi, X)Z)]. \quad (4.6)$$

Using (4.2) and (4.3) in (4.6), we have

$$\begin{aligned} & 2\eta(X)\eta(Y)\eta(Z) \left(1 - \frac{1}{n-2} - \frac{2\lambda}{n-2}\right) \\ & + \left(\frac{\lambda+1}{n-2} - 1 + \frac{\lambda(\lambda+1)}{n-2}\right) \\ & [g(X, Y)\eta(Z) + g(X, Z)\eta(Y)] = 0. \end{aligned} \quad (4.7)$$

Taking $X = Y = e_i$ and summing over $i = 1, \dots, n$, we obtain

$$\begin{aligned} (n+1)\lambda^2 + 2(n-1)\lambda - (n-1)(n-3) &= 0, \\ \text{when } n=3, \quad 4\lambda^2 + 4\lambda &= 0 \\ \therefore \lambda = 0 \text{ or } \lambda = -1 \end{aligned}$$

Conversely for $n=3$ and $\lambda=0$, we have

$$H(\xi, X).S = S(H(\xi, X)Y, Z) + S(Y, H(\xi, X)Z).$$

In view of (2.1), (4.2) and (4.3), we obtain

$$H(\xi, X).S = 0.$$

Thus the converse is true when $\lambda=0$.

Hence we can state that

Theorem 4.1. *A Ricci soliton in a three dimensional Kenmotsu manifold is steady iff $H(\xi, X).S = 0$.*

The condition $\tilde{C}(\xi, X).S = 0$, implies that

$$S(\tilde{C}(\xi, X)Y, Z) + S(Y, \tilde{C}(\xi, X)Z) = 0. \quad (4.8)$$

In view of (3.1), (4.8) becomes

$$\left[a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right) \right] [2\eta(X)\eta(Y)\eta(Z) + g(X, Z)\eta(Y) - g(X, Y)\eta(Z)] = 0. \quad (4.9)$$

From (4.9), by a contraction we get

$$\left[a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right) \right] (1 - n)\eta(Y) = 0. \quad (4.10)$$

From (4.10), we have

$$a + b(2\lambda + 1) + \frac{r}{n} \left(\frac{a}{n-1} + 2b \right) = 0. \quad (4.11)$$

If $\lambda = 0$, then from (4.11) we get $a = \frac{b(n-2)}{(n-1)}$.

The converse is also true.

Thus we have

Theorem 4.2. *If a Ricci soliton in a Kenmotsu manifold is steady, then M satisfies the condition $\tilde{C}(\xi, X).S = 0$ iff $a = \frac{n-2}{n-1}b$.*

REFERENCES

- [1] K. Amur and Y. B. Maralabhavi, *On quasi-conformally flat spaces*, Tensor, N. S. **31** (1977), 94-108.
- [2] Cornelia Livia Bejan and Mircea Crasmareanu, *Ricci solitons in manifolds with quasi-constant curvature*, Publ. Math. Debrecen, **78/1** (2011), 235-243.
- [3] U. C. De, A. A. Shaikh, *Differential Geometry of manifolds*, Narosa Publishing House, New Delhi, (2007).
- [4] K. Kenmotsu, *A Class of almost contact Riemannian manifolds*, Tohoku Math. J. , **24** (1972), 93-103.
- [5] B. B. Sinha and Ramesh Sharma, *On Para-A-Einstein manifolds*, Publications De L'Institut Mathematique, Nouvelle serie, tome 34 **48** , (1983), 211-215.
- [6] M. M. Tripathi, *Ricci solitons in contact metric manifolds*, arXiv:0801.4222v1, [math DG], (2008).
- [7] K. Yano, M. Kon, *Structures on manifolds*, Series in pure mathematics, Vol. **3**, World Scientific Publishing Co., Singapore, (1984).

H.G.NAGARAJA

DEPARTMENT OF MATHEMATICS, BANGALORE UNIVERSITY, CENTRAL COLLEGE CAMPUS, BENGALURU – 560 001, INDIA

E-mail address: hgnraj@yahoo.com

C.R.PREMALATHA

DEPARTMENT OF MATHEMATICS, BANGALORE UNIVERSITY, CENTRAL COLLEGE CAMPUS, BENGALURU – 560 001, INDIA

E-mail address: premalathacr@yahoo.co.in